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13. Consider the following pairs:                       
Index  Organization 
1. Global Talent 
Competitiveness 
Index 

: International 
Monetary Fund 

2. Global 
Competitiveness 
Index 

: World Economic 
Forum 

3. World 
Competitiveness 
Ranking 

: World Bank 
 

Which of the pairs given above is/are 
correctly matched? 
(a) 1, 2 and 3 
(b) 1 and 2 only 
(c) 2 only 
(d) 1 and 3 only 

 
14. Consider the following statements with 

reference to food fortification in India: 
1. Fortified rice is distributed through the 

Public Distribution System in some 
states. 

2. Milk and edible oil require mandatory 
food fortification. 

3. Andhra Pradesh leads in Food 
Fortification Index. 

Which of the statements given above is/are 
correct? 
(a) 1 only 
(b) 1 and 3 only 
(c) 2 and 3 only 
(d) 1, 2 and  

 
15. With reference to 'Equalisation Levy 2.0', 

which of the following statements is/are 
correct? 
1. It covers online sales of all goods and 

services. 
2. It is applied to only non-resident 

companies. 
3. India is the only G20 nation to have 

implemented such a tax. 
Select the correct answer using the code 
given below. 
(a) 1 and 2 only 
(b) 2 only 
(c) 3 only 
(d) 1, 2 and 3 

16. Consider the following: 

1. SAARC 

2. ASEAN 

3. G 20 

4. BRICS 

India entered into a complete open sky 

agreement with which of the given above 

regional groups? 

(a) 1 and 2 only  

(b) 3 and 4 only  

(c) 1, 2 and 4 only  

(d) None 

  

17. With reference to National Industrial 

Corridor Development Corporation 

(NICDC) Limited, consider the following 

statements. 

1. It has been formed by renaming Delhi 

Mumbai Industrial Development 

Corporation Limited after the expansion 

of its mandate. 

2. Government of India and Japan Bank for 

International Cooperation are its 

shareholders. 

3. Its mandate is to develop and implement 

all industrial corridor projects in the 

country. 

Which of the statements given above are 

correct? 

(a) 1, 2 and 3 

(b) 1 and 3 only 

(c) 1 and 2 only 

(d) 2 and 3 only 


